Z[K@ series

H
L %
L2 Ly
S=RE
L1 L3 L4 'S L4 L3 L1 T [
HMBRY
Shaft dimensions
\
g ’ %
EE dl 10N IR
SIS j - = I; ] 8 8
(o=
tHI#R Lead wires Air injection port
Al %% MODEL | ZKC1S2AA | ZKC2S5AA | ZKCOO5AA | ZKCO10AA | ZKCO20AA | ZKCO40AA
E k N
e emNm | 12(12) 2.5(25) 5 (50) 10(100) 20 (200) 40 (400)
= I 0.94 1.24 2.15 2.4 2.7 35
C it =
;g;j\j’ &I W) 225 30 515 57.6 64.8 84
(75°C) Tﬁifn}e%e%bléhst%rque 0.1 0.12 0.13 0.25 0.37 oL
|rE 3 (N 1.34*10° 3.8°10° 9.5410° 3.5*10° 9.15*10° 2.4*10"
Moment of inertia TRl . ) )
(kem?) | Bt side 4.90*10° 1.49*10° 4.810° 2.5*10° 6.89*10 % 554 (0]
IR || s 310 ° 510 * 1"10° 610" 510 ¢ 2*10°
a?,‘%éﬂlp% [BE (m¥min)
AIIowabIesllﬁpage Air volume 0.2 0.4 0.6 1.1 1.6 2.0
te wit =z
fdarcoong | I (W) 250 380 700 1100 1900 2800
S8 Weight (ke) 5.2 9 14.5 37 53 100
&R Maximum speed (r/min) 1800
HIXYEE Weight of powder (g) 20 33 60 140 225 370
D1 152 182 219 276 325 395
D2 126 159.5 195 260.5 301 360
D3 (g7) 42 55 74 100 110 130
D4 64 78 100 140 150 200
N L 191.7 230 293.9 359 407.2 500.4
i L1 29.5 43 55 65 69 92
R L2 124 136 172 216 250 291
o L3 15 17 30 28 30 35
L4 25.5 26 28 46 56 66.5
Exterior 1§ (h7) 15 20 25 30 35 45
dimensions
H 17 22 28 33 38.5 48.5
w 5 7 10 12
v M4*0.7P*8L | M5*0.8P*10L | M6*1P*12L M10*1.5P*20L
R 6-M6*1P*10L 6-M10*1.5P*15L 8-M12*P1.75*20L
S 1/8 1/4 3/8




(FEHDFE] (HURER) 600 U A
. ZKCO040AA
Special features of standard torque (reference only) /
500 / 50
E 400 / 40 g
z / 2
g 300 A 30 o
= /ZKCOZOAA 3
2 /el e
R 200 f 20 o
=] // ZKCO10AA 5
+
100 7/ II 10
ﬁ}r’ i ’;ZKI("OOSAA
50 | 5
i 4 ZKC2S5AN
; 2kc1s2nnt o
0 1 2 3 4

EER Energize current (A)

(FrEsTHEBRE TIERSIE (BADAE) ] (FrEETHEERENHNEIE (BARBAER) ]
Allowable sustained operating efficiencies (natural cooling) Allowable Sustained torque levels (natural cooling)
1200 / ZKC040AA 500 0
1000 20
. § 100 _\ 10
= § / /| zkcozomA E 50 \ 5 EE:
ﬁ E // % 30 \Q\\\\\ 3 %
H < g 20N AN 2 >
@ 2 g N & g
é'm'é 5 50 / / i IR \\\EP%\% ! 45
g i NN H#
o2 T ZKC005AA™| 5 L ANMSNAN N 05
2 7 = NN
800 / ZKC2S5AA : NN\ o2
200 | 2 ™ 0.2
ZKC1S2AA \\
100 HEE 1 N
o 05 0.05
0 500 1000 1500 2000 10 50 100 200 300 500 1000 2000
ATJEERE Input speed (r/min) AJITERE (r/min) (FREgEAMREEL)

Input speed (r/min) (assuming that the output shaft is stopped)



	ZKC
	#final-P11-72 5

